S90 Chemistry: Topic 5  The Periodic Table p. 126
1.  
An atom has 3 subatomic particles, protons (positively charged, weight 1 unit), 
neutrons (negatively charged, weight a tiny bit more than 1 unit) and electrons 
(negatively charged, weight is negligible).  

2.
Protons and neutrons are in the nucleus.  The electrons spin around the nucleus in 
different energy levels in an electron cloud.  The atom is mostly empty space.
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3.
Each element has its own square on the periodic table.  Printed on this square is a 
great deal of information about the element:



 •  name of the element                                                                                                                  

 •  atomic  number (number of protons = number of electrons)                               

 • element symbol                                                                                                                           

 • atomic mass (number of protons + neutrons).  

4.  
You can calculate the number of neutrons in an atom                                                                                          


Atomic mass – atomic number = number of neutrons
5. 
 State of the element at room temperature – in the example below, the balloon tells us 

that helium is a gas at room temperature.
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Assignment:
( Practice sheet: “Elements and the Periodic Table 

                                                 

( Topic 5 Review p. 135 Questions 1, 2, 4, 5.                                                                                  

( p. 171 – 172  Questions 21, 22, 33                                                                                           


